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Slope         is "2-dimensional average"
of Inadvertent & Frequency-error

Average Frequency-error

i's Average Inadvertent

A Balancing Authority i's Frequency Control Contribution is a frequency-error-weighted
"2-dimensional average" of Inadvertent and Frequency-error.

A "2-dimensional average" is the slope of a line from the origin      through the intersection     of
the lines intercepting the two averages.

4-period scatter of Balancing Authority i's
<Frequency-error, Inadvertent>

 points

           denoted by the 4 red dots
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tF∆ t,iIPeriod  t
       1             4        -2
       2             1        -1
       3            -4         4
       4             1         8
         Sum =   2         9


